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QUESTION 1

ACME is implementing Inventory in a make-to-order manufacturing environment, where there is on-hand inventory for
200 different motors. For these purchasable items, given the proper profile setup, Min-max can automatically create

A. an expense account

B. an encumbrance account

C. an invoice price variance account

D. an inventory Accounts Payable accrual account

E. records in the Purchase Order Requisition interface table

Correct Answer: E

QUESTION 2

Identify four functions that a user can perform using the Material Workbench. (Choose four) A. Create move orders.
B. Create and save queries.

C. Change material statuses.

D. Perform miscellaneous issues.

E. Perform miscellaneous receipts.

F. Perform pick confirm transactions.

G. Perform ship confirm transactions.

H. View material in receiving, on-hand quantities, and intransit material.

Correct Answer. ABCH

QUESTION 3

Which five actions can you perform on Requisitions? (Choose five.)
A. Print requisitions.

B. Update requisitions.

C. Cancel/Final Close requisitions.

D. Modify after the requisition has been approved.

E. View the status and action history of requisitions.
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F. Delete requisition lines after the requisition has been approved.

G. Only Finally Close requisitions; Cancel is not an available action.

H. Review requisition assignments and assign/reassign requisitions to buyers.

I. Printing requisitions is not an available action until the client has created a company form.

J. Requisition Management is not a valid action for requisitions; assigning/reassigning can be performed only on POs.

Correct Answer: ABCEH

QUESTION 4

There are no interdependent attributes. Which three statements are true about defining an item using a template?
(Choose three.)

A. You can apply multiple templates to an item.

B. A template can be applied only at the master organization level.

C. Atemplate can be applied at the master or child organization levels.

D. Modifying an item template would automatically update the items that were previously defined using that template.

E. Template application is exclusive. If you apply a second template to an item, the item would not retain any values of
the prior template.

F. A template applied to a master item, which has already been assigned to a child organization, can still update the
organization-controlled item.

G. Template application is additive. If you apply a second template to an item, the item would retain the values of all the
attributes that were not enabled by the second template.

Correct Answer: ACG

QUESTION 5

Which two statements are true about lot numbers? (Choose two.)

A. Lot numbers can be user defined.

B. Lot numbers have to be numeric only.

C. Lot numbers have to be of a fixed length.

D. Lot numbers can be generated only at the organization level.

E. Before turning lot control on for an item, your on-hand quantity for that item should be zero.

Correct Answer: AE
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